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1.	Introduction
In TR38.804 v0.3, three types of bearer are captured for multi-connectivity between LTE and NR, i.e., Split bearer via MCG (MCG split bearer), SCG bearer, and Split bearer via SCG (SCG split bearer).
The agreements in RAN2#95 that are related to bearer types are captured in the below: 
=>	SCG bearer for LTE-NR interworking with EPC as CN will be studied. Final decision on support of SCG bearer will be made after more details of the impact of Next Gen Core to PDCP have been studied. 
=>	Study the new bearer type to split the bearer while setting the U-plane termination point in SeNB.

In this contribution, we further discuss bearer types that could be supported in NR.
2.	Discussion
2.1 SCG Split bearer
SCG Split bearer is illustrated in Figure 1 and 2. Figure 1 is for LTE eNB as a master node while Figure 2 is for NR gNB as a master node 
2.1.1 CASE1: LTE eNB is a master node (MeNB) + NR gNB is a secondary node (SgNB)


	         
Figure 1: SCG bearer and SCG split bearer with MeNB+SgNB
In LTE DC, MCG split bearer was mainly for throughput enhancement while there wouldn’t be much difference between the throughput that can be provided by two eNBs because they are both LTE system. 
In Case 1, however, there would be a big difference between the throughput that can be provided by MeNB and SgNB, i.e., SgNB would provide much higher throughput compared to MeNB. Therefore, from throughput perspective, there seems to be no reason to use SCG split bearer instead of SCG bearer.
One motivation of using SCG split bearer in Case 1 is to distribute the PDCP processing of MeNB by placing the PDCP at SgNB because there would be a large number of small NR cells. However, this can be done by using SCG bearer, and hence, it seems not essential to support SCG split bearer in order to distribute the PDCP load.
It was also claimed that by using SCG split bearer, MeNB link can be used in case SgNB link is experiencing a bad link quality, i.e., for purpose of fallback. However, considering the throughput difference between LTE and NR, it is questionable whether the fallback to MCG link of SCG split bearer brings a valuable gain. Using SCG bearer and reconfiguring the SCG bearer when link quality becomes bad could be a better way than using SCG split bearer and temporarily using MCG link of SCG split bearer when link quality of SCG link becomes bad.
In summary, we hardly see a motivation to support SCG split bearer when LTE eNB is a master node (MeNB) and NR gNB is a secondary node (SgNB),
Proposal 1. SCG split bearer is not supported when LTE eNB is a master node (MeNB) and NR gNB is a secondary node (SgNB).

2.1.1 CASE2 : NR gNB is a master node (MgNB) + LTE eNB is a secondary node (SeNB)


	
Figure 2: SCG bearer and SCG split bearer in MgNB+SeNB
In Case 2, there may also be an intention to use SCG bearer in order to reduce PDCP processing load and PDCP buffering in MgNB. However, this comes at the expense of throughput because throughput provided by LTE system is much less than that in NR system. Alternatively, the multi-connectivity within NR can be used, i.e., MgNB+SgNB, in order to offload the PDCP load in MgNB.
Throughput loss can also be expected in using SCG split bearer in Case 2. Furthermore, we see no point of passing the data transmission to SeNB for reducing of PDCP load and then bring back the data from SeNB over non-ideal backhaul.
In summary, there seems to be no real use case of supporting SCG bearer and SCG split bearer when NR gNB is a master node and LTE eNB is a secondary node. Therefore, we propose that,
Proposal 2. Neither SCG bearer nor SCG split bearer is supported for multi-connectivity with NR gNB as a master node and LTE eNB as a secondary eNB. In other words, the only multi-connectivity case with NR gNB as a master node is to use NR gNB as a secondary node. 

3.	Conclusion
In this contribution, we discuss SCG bearer and SCG split bearer in NR, and propose:
Proposal 1. SCG split bearer is not supported when LTE eNB is a master node (MeNB) and NR gNB is a secondary node (SgNB).
Proposal 2. Neither SCG bearer nor SCG split bearer is supported for multi-connectivity with NR gNB as a master node and LTE eNB as a secondary eNB. In other words, the only multi-connectivity case with NR gNB as a master node is to use NR gNB as a secondary node. 
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